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Advanced Review: Quadrilateral Practice 


True or False with Counter Examples
For Exercises 1 - 10, identify each statement as true or false.  For each false statement, sketch a 
counterexample or explain why it is false.

1.	The diagonals of a parallelogram are congruent.

2.	The consecutive angles of a rectangle are congruent and supplementary. 

3. 	The diagonals of a rectangle bisect each other.

4. 	The diagonals of a rectangle bisect the angles. 

5.	The diagonals of a square are perpendicular bisectors of each other.

6. 	Every rhombus is a square. 

7. 	Every square is a rectangle. 

8. 	A diagonal divides a square into two isosceles right triangles.

9. 	Opposite angles in a parallelogram are always congruent. 

10. 	Consecutive angles in a parallelogram are always congruent

Identifying Properties: In problems 1-8 below, list the letters of the quarilaterals that the properties hold true for:   a) Parallelogram	  b) Rectangle		c) Rhombus		d) Square

1. Diagonals bisect each other.				2. All <’s are right <’s


3. All sides are congruent.					4. Opposite sides are congruent. 


5. Opposite angles are congruent. 				6. Diagonals are congruent.


7. Diagonals are perpendicular. 				8. Opposite sides are parallel. 

Applying Properties: 
Solve for x and write the justification for the set up for the parallelograms below.  
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5. ABCD is a rhombus. If m<8=35°,				6. ABCD is a rectangle. If m<1=20° find the 
Find the measure of <1, <2, <3, <4,				measures of <2, <3, <4, <5, <6. 
[image: ]<5, <6, <7. 
[image: ]







7. ABCD is a square. If AC=16in and 			8. ABCD is a parallelogram. AR= 2x+ 3, 	
[image: ]BD = 2x + 4, find x. 						RC= 35, BR= 4y – 10, DR= 90. Find x and y.
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[image: ]13. a) Is the figure a trapezoid? Is it an isosceles trapezoid? 
	Explain, using math, how you know. 






b.) Find the midpoints of PQ and RS and draw the median. 






Challenge: 
[image: ][image: ]1.							2. Determine whether the figure is a trapezoid, a parallelogram, a square, a rhombus or a general quadrilateral given the vertices
 B(1,2), C(4,4), D(5,1) and E(2,-1). SHOW ALL WORK in your explanations. 
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[image: ]5. 	6.  True or false? “A quadrilateral is a square if and only of it is also a rectangle.” Explain. 
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7. Find x and y if ABCD is a rectangle 				8. 
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[image: ]9. ACT QUESTION! 					10. ACT QUESTION!
Find x and y if the perimeter is 39m. 		 
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[image: ]11. 	ACT QUESTION!					12. ACT QUESTION!
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For trapezoid DEGH, X and Y are  18. For trapezoid RSTV, A and B are

midpoints of the legs. Find DE. midpoints of the legs. Find VT.
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For isosceles trapezoid XYZW, 20. For trapezoid QRST, A and B are
find the length of the median, midpoints of the legs. Find AB,
msW, and mZZ. m£Q, and mZS.
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COORDINATE GEOMETRY For Exercises 27-29, Pl-43)
refer to quadrilateral PQRS. -

21. Determine whether the figure is a trapezoid.
If so, is it isosceles? Explain.

28. Is the median contained in the line with
equation y = e Justify your answer.

29. Find the length of the median.
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29. PERIMETER The diagonals of a rhombus are 12 centimeters and
16 centimeters long. Find the perimeter of the rhombus.

Use the Venn diagram to determine

whether each statement is always,

sometimes, or never true.

30. A parallelogram is a square.

31. Asquare is a rhombus.

32. Arectangle is a parallelogram.

33. Arhombus is a rectangle but not
a square.

34. Arhombus is a square.

Quadrilaterals

35. True or false? A quadrilateral is a square only if it is also a rectangle. Explain
your reasoning.
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29.

PERIMETER The diagonals of a rhombus are 12 centimeters and
16 centimeters long. Find the perimeter of the rhombus.

Use the Venn diagram to determine B
whether each statement is always, Quadrilaterals
sometimes, or never true.
30. A parallelogram is a square.
31. Asquare is a rhombus.
32. Arectangle is a parallelogram.
33. Arhombus is a rectangle but not
a square.
34. Arhombus is a square.

35.

True or false? A quadrilateral is a square only if it is also a rectangle. Explain
your reasoning.
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TELEVISION Television screens are
measured on the diagonal. What is the
measure of the diagonal of this screen?
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ALGEBRA Quadrilateral ABCD is A (Ux+s)" D
a rectangle. Find y.

Since a rectangle is a parallelogram, (9 +20)" bz =1
opposite sides are parallel. So, .

alternate interior angles are congruent. B ly+a) ¢
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Each side of a quadrilateral is 12 ¢m long. Which 2 of
the following must also describe this quadrilateral?

1. Square (sides of equal length and 90° angles)
II. Rhombus (sides of equal length)
1II. Rectangle (90° angles)
IV. Parallelogram (opposite sides parallel)

T and 1T only

I and III only
11 and III only
1L and IV only
11 and 1V only

isiielad
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Square ABCD is shown below in the standard (x,y)
coordinate plane. The line y = ax + 2 divides the
square into 2 congruent regions if a = ?
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In AXYZ, XY = XZ and the measure of £Y is 22°,
What is the measure of £X ?

A, 136° . !
B. 79 .
C. 68

D. 44°

E. 22°
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WXYZ is a rectangle. Find each measure if mZ£1 = 30.

13. mz2 14. mZ3 15. mzZ4
16. ms5 17. ms6 18. ms7
19. m£8 20. mZ9 21. mZ12
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FIND THE ERROR McKenna and Consuelo are defining a rectangle for an
assignment. Who is correct? Explain.

McKenna Consvelo
Arectangle is a A rectangle has a pair
parallelogram with one of parallel opposite

right angle. sides and a right angle.
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MULTIPLE CHOICE In the figure, quadrilateral
ABCE is a parallelogram. If ZADE = £ZBDC,
which of the following must be true? (Lesson64)
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REVIEW A rectangular playground

is surrounded by an 80-foot fence.
One side of the playground is 10 feet
longer than the other. Which of the
following equations could be used
to find s, the shorter side of the

playground?

F 10s +5 =80

G 45s+10=80

H s(s + 10) =80

J 2(s +10) + 25 =80
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If FJ=—-3x+5y, FM=3x+y,

GH = 11, and GM = 13, what values
of x and y make parallelogram FGH]
a rectangle?

A x=3,y=4 Cx=7y=8
B x=4,y=3 Dx=8y=7
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